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QUESTION 1

Click the Exhibit button.

alphanal::>» net port show —node alphanal-01

(network port show)

Node: alphanal-01

Port IPspace Broadcast Domain
ala Default -

ala—-101 Default alpha servers
a0a-105 Default nfs

alb Default -

aliM Default mgmt

ala Default -

alb Default -—

alc Default -

ald Default -

ale Cluster Cluster

alf Cluster Cluster

Link
up
up
up
down
up
down
down
up
up
up
up

MTUO

9000
1500
9000
1500
1500
1438
1500
2000
5000
9000
9000
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Speed (Mbps) Health

Admin/Oper
auto/10000
aute/10000
auto/10000
auto/-
1000/1000
1000/-
1000/-
auto/10000
auto/10000
auto/10000
auto/10000

alphanal::> ifgrp show —node alphanal-01 -ifgrp a0a

Node :

Interface Group Name :
Distribution Function :
Create Policy:
Address :
Port Participation:
Network Ports:

Up Ports:

Down Ports:

MAC

Status

healthy
healthy
healthy
healthy

healthy
healthy
healthy
healthy

alphanal-01

ala

port

multimode
02:a0:98:76:e5:da
full

elc, =0d

elc, =04

Users are experiencing sporadic network connectivity issues to an ONTAP cluster. The network administrator reports a
large amount of MAC flapping on the switch ports connected to NetApp ports eOc and e0d. The ONTAP cluster is

configured as shown in the exhibit.
Referring to the exhibit, how would this issue be solved?

A. Ensure that the MTU on the switch is 9000.

B. Ensure that the switch is configured with VLAN trunking.

C. Ensure that the switch is configured with static link aggregation.

D. Change the MTU on port a0a-100 to 9000.

Correct Answer: A

QUESTION 2
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You are asked to automate storage management tasks, including provisioning, migrating, decommissioning, and cloning
storage.

Which product enables you to accomplish this task?
A. OnCommand Cloud Manager

B. OnCommand Insight

C. OnCommand Unified Manager

D. OnCommand Workflow Automation

Correct Answer: D

Reference: https://www.netapp.com/us/media/tr-4588.pdf

QUESTION 3

An administrator just upgraded the controllers and wants to nondisruptively implement Advanced Drive Partitioning
(ADP) as part of the change.

Which statement is correct in this scenario?

A. ADP cannot be implemented on this system.

B. ADP can be implemented as long as all of the on-board drives do not contain data.
C. ONTAP does not support ADP.

D. ADP can be implemented, but only with a complete data-wipe and initialization.

Correct Answer: D

QUESTION 4

You need to non-disruptively remove a DS224C shelf from a 4-shelf stack.

Which three actions should be performed to accomplish this task? (Choose three.)
A. Ensure that an aggregate relocation has been performed.

B. Ensure that the HA pair is not in a takeover state.

C. Ensure that the stack is connected using multipath high availability.

D. Ensure that each node is in a takeover state when you remove the cables.

E. Ensure that no aggregates exist on the shelf.

Correct Answer: ABC

Reference: https://docs.netapp.com/platstor/index.jsp?topic=%2Fcom.netapp.doc.hw-ds-sas3-service%
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QUESTION 5

Using QoS statistics for a group of volumes on one node, you notice that most of the latency comes from the data layer.
In this scenario, which statement is correct?

A. There is too much indirect traffic from other nodes.

B. QoS processing is increasing CPU usage.

C. The CPU on the node is overused.

D. High disk use is increasing CPU usage.

Correct Answer: D
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